
III.

I.

31

30

7911-1330

2001-046
M6x25 Hlf csavar

2001-484
M5x20 Hf bk csavar

18400-309

4 4911-151
Product.: Lang

1. Seite
Belső használatra !298711-184

III.

5

2001-015
M5x6 Bkny hernyócsavar

M5x8 Sf csavar

5025-003A

2001-017

II.

I.

II.

IV.

IV.

6 6536-015

2002-005
M6 Anya

2001-110
M6x16 Hf bk csavar

2001-110
M6x16 Hf bk csavar

V.

3490-002A 2

31982-019
2001-065

M8x25 Hlf csavar

2002-007
M8 Hl anya

158600-073

2003-005
M6 Acél alátét

9900-1326

K4632 Ora



Product.: Lang

2. Seite
Belső használatra !

11

10

2002-003
M5 Anya

1982-001

1982-011

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

9 5311-628A

101982-011
125540-252

9900-1174 7

2001-106
M5x16 Hlf csavar

11 1982-001

11 1982-001

14 6611-140

13
1982-001 11

6611-004A

85311-570A

2001-341
M5x10 Df csavar

2003-003
M5 Acél alátét

2003-004
M5 Rugós alátét

K4632 Ora



Product.: Lang

3. Seite
Belső használatra !24 3711-145

18

19 6081-600

186081-599

20

23 6081-622

21 6081-602B

255490-077X

Feuerraumauskleidung
(9900-777A)

6081-599         2 Stück
6081-600         2 Stück
6081-601         2 Stück
6081-602B      1 Stück
6081-621         1 Stück
6081-622         1 Stück
3411-145         1 Stück

1.
Reihenfolge:

Lage des Feuerablenkrahmen

6081-601

6081-599

226081-621

9.

4.

1.

6.

7.

9.

2.

8.

5.

3.

K4632 Ora



Product.: Lang

4. Seite
Belső használatra !

V.

27

28

26

2002-007

2001-062

1982-019

4111-001

4111-041

M8 Hl anya

M8x16 Hlf csavar

71982-019

2001-065
M8x25 Hlf csavar

63490-002A

2002-007
M8 Hl anya

177111-137

16 5000-384

2001-180
M6x10 Hf csavar

2001-180

2003-005
M6 Acél alátét

2001-489
M3x10 Hf csavar

M6x10 Hf csavar

K4632 Ora


